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Description

Total given by adding numbers

Total given by subtracting numbers

Total given by multiplying numbers

Total given by dividing numbers

[ product j\[ difference ] [ quotient ]\ [
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Monomial: an algebraic expression with only one term

What it is ,
2abc y
4x + x 1
ab X
What it isn't
2x+5 X' *+X
x+y

Note: 1x=x

Polynomials: an algebraic expression with more than one term
What it is

2x+5
X2 + X X + y
a+2b+5c
What it isn't
2x? ab
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Adding
Group and add "like" terms. Your answer may have more than one
number.

(2_x@+(x+/a 2x2+3+x+5E

=2x2+x+8

=3x+8

2xy+ 3y +x+5 [ j

Note: Brackets don't really matter, and can be removed.
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Subtracting

Group and subtract like terms. E j
(2x - 3) + (x - 5) (2x-3)-(x-95)
=3x-8 =2x-3-x+5

=X+2

(2x-3)-(x+5)E j

=2x-3-x-5
=x-8

Brackets DO matter.
Remember: 1. Sharing is caring

2. Two minuses give a plus (- - = +)
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Adding, Subtracting and Perimeters

W+ 2
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Finding the Value

L

L=6,W=2

W+ 2

L2+ 2W =62 + 2(2) = 36 + 4 = 40




March 12, 2014

n
,‘aop Rearrange the order of operationj

Addition

Brackets

Division

Exponents

Multiplication

Subtraction
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Recap: Find the Perimeter




Multiplying

Multiply with each number in the brackets. Sharing is caring.

L 2GS

W+ 2

Area: L=2x+x+5W+2=x
<2<1+X'+‘5\\<‘

5

2xg+xl4- Sx

‘\

L=8,W=2

L00%D)

Lw+2L

261 Sx

2X =

W+ 2

H

&@Hz( 8)

1%’2_

L

R o)

2X +><45><>2>(
Y = 2

6.b) p.53 U&Y ~w — \O\(

3x

Volume of prism = 6x2 mm?

B3X)(X)( ?):?63(1
Dby
S

/=2
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Algebraically:

=2(x? + 3x - 5)

= EK+O

_ B

-2(x2+ 3x - 5) - 3(x - 4)

e
—2X _
SROBnt 2

—2X = Gy422
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Dividing

Divide each number in the brackets/in the top part of the fraction. Sharing is
caring. —

-3x2+ 6x -3 -\ _(auax-s\
3 3
= _ 2
X &= ZKg\/ —X -'ZK-Q—
-3x2 + 6x2 - 3x < )< \/\/

o TN
—X 2%~ \
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Before you leave...
Simplify the following expressions:
1.3c(3c + 2)-5¢c(2c - 1)
2. (36h3 - 24h2 + 12h)
-8h

3. Find a simplified expression for the area of the polygon:

2X




